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Q(x) = %-erfc(%)

Guess value:
Prob := .1
X:=.1
Given
Prob = Q(x)
xval := Find(x)
csp =8

fmar = cp-xval
B:i=210° NFi=g  SNR=1

P :=-174 + 10log(B) + NF Py = —114.99

frar = 10.252

Pmin:= Pn+SNR  Pppin = —99.99

Lp =Pt +9r + 9t — Lsys — Pmin
Lp = 137.737

xval = 1.282
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P

1:=-70 v:=368 n:=30 hto =100
P0 =40 f0 = 850 d0 =1

hro =10

h; == 100

hr::5

f := 1800



O = 2.15 gyp = 8.15

ht Ny f
o = 20log| — | +20log| — |- n-Iog(—] +(Pt—Po) + (9t~ 9to) + (9r — Iro)

hto hro f0
o = -16.096
P50 = Pmin
Guess value:
d:=1
Given

d
P5O = Pl — 10V|Og(d—0] + OLC

distance := Find(d) ictance = 1.256 miles
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Coherence time: f. := 1000Hz Ap=1
i:=1..200 fd = 25Hz A2 =1
i
tj=——
fo-10

s1(t) = Al-cos(Zn-fC-t) So(t) = A2.cos[2n.(fc+fd).t]
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